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1 object moving on the x-axis with a constant acceleration increases its x coordinate by 80 m ina
'B‘ﬁfm nterval and has a velocity of +20 m/s at the end of this interval. The acceleration (in

the object is:
d)-2.0 e)—6.4

a)-3.2 b) 6.4 O L6
An airplane flies horizontally with a speed of 300 m/s at an altitude of 400 m. Assume that the

- ground below isdevel. At what horizontal distance (in km) from a target on the ground must the
pilot release a box so as to hit the target? e

3.0 b) 2.4 c)3.3

d) 2.7 e) 1.7

A particle starts from the origin at /= 0 with a velocity of (16i — 12j) m/s and moves in the xy
plane with a constant acceleration of a = (3.0 - 6.0j) m/s”. The speed (in m/s) of the particle
atr=20sis:

) 5 b) 39 c)26 d) 33 e) 43
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tant when a 4.0 kg object has an acceleration of (5i + 3j) m/s’, one of the two forces
the ohject is known to be (12i +22j) N. The magnitude of the other force (in N) acting
~on the object is:

vy g
Acting o
tir

a)2.0 b) 13

c) 19 d) 1.7 e) 20

Kﬂ.dﬁ,kg mass attached to the end of a string swings in a vertical circle with a radius of 1.8.m. At
~ an instant when the string makes an ang

le of 40 degrees below the horizontal, the speed of the
mass is 5.0 m/s. The magnitude of the tension (in N) in the string at this instant is:

a)9.5 b) 3.0 c) 8.1 d)4.5 e) 5.7

i
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